
Math 105 / Final (April 24, 2017) DO NOT WRITE YOUR NAME ON THIS PAGE page 4

3. [10 points] Be sure to show your work on this problem. Parts a. and b. are not related.

a. [5 points] Consider the function P = f(t) = 4 − e2t+5. Find f−1(P ). Find a horizontal
asymptote of f(t).

f−1(P ) = .

A horizontal asymptote of f(t) is .

b. [5 points] Find all solutions x to the equation

4 cos(4x) = 1

on the interval [−1, 2]. Write your answer(s) in exact form. If there are no solutions, write
“no solutions” in the blank and explain your answer.

x = .
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